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 ECO-001  

BACHELOR’S DEGREE PROGRAMME 

Term-End Examination 

December, 2022 

 

ELECTIVE COURSE : COMMERCE 

ECO-001 : BUSINESS ORGANISATION 

Time : 2 hours Maximum Marks : 50 

  (Weightage : 70%) 

Note :  Attempt any five questions . All questions carry 

equal marks.   

1. What is a Government Company ? How is it 

different from a  Non-Government Company ?  4+6 

2. Examine the problems that are involved in 

Foreign trade.  10 

3. What are the services that are provided by 

retailers in a business ? Discuss with example. 10 

4. Describe the role of commercial banks in the 

economic development of a country.  10 

5. “Risk is pervasive in business.” Elaborate with 

example.  10 
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6. Discuss briefly insurable risks and  

non-insurable risks with suitable example.  10 

7. Differentiate between life insurance and other 

forms of insurance.  10 

8. Write short notes on any two of the following : 5+5 

(a) Promoter vs. Entrepreneur  

(b) Public Limited Company  

(c) Joint Hindu Family Firm  

(d) Partnership Form of Organisation  
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 B©.gr.Amo.-001  

ñZmVH$ Cnm{Y H$m`©H«$_ 

gÌm§V narjm 

{Xgå~a,  2022 

EopÀN>H$ nmR>çH«$_ : dm{UÁ`  

B©.gr.Amo.-001 : ì`mdgm{`H$ g§JR>Z 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

  (Hw$b H$m : 70%) 

 ZmoQ> : {H$Ýht> nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ  
h¢ &   

 

1. gaH$mar H§$nZr Š`m h¡ ? `h µJ¡a-gaH$mar H§$nZr go {H$g 
àH$ma {^Þ h¡ ? 4+6 

2. {dXoer ì`mnma _| AmZo dmbr H${R>ZmB`m| H$s Om±M H$s{OE & 10 

3. {H$gr ì`dgm` _| \w$Q>H$a ì`mnm[a`m| Ûmam àXÎm godmE± Š`m 
h¢ ? CXmhaU g{hV MMm© H$s{OE &  10 

4. {H$gr Xoe Ho$ Am{W©H$ {dH$mg _| dm{UÁ` ~¢H$m| H$s ^y{_H$m 
H$m dU©Z H$s{OE &  10 

5. ‘‘ì`dgm` _| Omo{I_ ì`mnH$ (gmd©^m¡{_H$) hmoVm h¡ &’’ 
CXmhaU g{hV {ddoMZm H$s{OE &  10 
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6. C{MV CXmhaU g{hV ~r_m-`mo½` Omo{I_m| Am¡a ~r_m-A`mo½` 
Omo{I_m| H$s g§{jßV MMm© H$s{OE &  10 

7. OrdZ ~r_m d AÝ` àH$ma Ho$ ~r_m _| AÝVa ñnï> 
H$s{OE &  10 

8. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±  

{b{IE : 5+5 

(H$) àdV©H$ ~Zm_ CÚ_r  

(I) npãbH$ {b{_Q>oS> H§$nZr  

(J) g§`wº$ {hÝXÿ n[adma CÚ_ (\$_©)  

(K) g§JR>Z H$m gmPoXmar ê$n  


